Vector Addition:

\Vectors in the same direction:
Simply add the Vector quanties(keep the direction)

15 mis East

19 mis East

4 mis East

Vectors in Opposite Direction:

Make one of the directions a (-) and then take the algebraic
sum!(Subtract the two numbers)
Be sure and keep the direction of the larger vector!

e
26 mis Wast

18 mis Wast
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Perendicular Vectors

When 2 vectors are perpendicular to
each other, place their "tails”
together and use trigonometric
functions to solve for unknowns!
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Determining Direction for Perpendicular Vectors:




An airplane flies at 140 _ko/bir due east. The wind is
blowing 75 km/hr due north. Find the resultant velocity of

the airplane. T
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An airplane is moving at 240 km/hr due south. The
wind is blowing at 40 km/hr due west. Find the ([~
resultant velocity of the airplane.
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A swimmer is moving straight across a river with a
velocity of 8 m/s. If the downstream velocity of the

river is 2.5 m/s, find the resultant velocity of the
swimmer.




A sailboat is moving across the ocean with a velocity
of 50 km/hr northward. The wind is blowing at

14 km/hr westward. Find the resultant velocity of the
sailboat. g S N 9—%’1%




An F-16 Fighter is moving at 350 km/hr toward the East.
The wind is blowing 28 km/hr toward the South. Find
the resultant velocity of the F-16 Flghter
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A child throws a Frisbee at 8 m/s toward the North. The
wind is blowing at 3 m/s toward the North. Find the
resultant velocity of the Frisbee.
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A B-52 bomber is moving at 180 km/hr due east. The wind is

blowing 38 km/hr due south. Find the resultant velocity of the
B-52 bomber.
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